[ Efficiency vs vertpos |
0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.01
0.005

1.0

0.95L : : :
1072 107 1 10 10?

—=— DQM_TT__mkFit-DQM_pless_orig
Efficiend —— pom_TT_ mkFit-DQM_pless_modi

0.1 ; ; ; ; ;
e e o
S T e
S T e e
i B R S e
0.05§-
0.04ft-
0.03}-
0.02fr
0.0
.0

..............................

...........................

R R

R R

TTTI [T+
s
o
T

=30 -20 -10 0 10 20 30

[ Efficiency vs. sim PV z |
0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.0
0.005

._.
T




	Contents
	Page 1


